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Egy f: [-m, 7] — R integralhaté fliggvény Fourier-sora:
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Trigonometrikus

azonossagok

sin?z 4 cos?z =1

sin(z + y) = sinx cosy & cos zsiny

cos(x £ y) = cosxcosy Fsinxsiny

Hiperbolikus fiiggvények
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Derivalasi szabalyok

(f+9)(z
(cf) (x) = cf' (),

)= f'(z)£g'(x)

ceR

(f9) (x) = f'(x)g(x) + f(x)g (x)

IAY 2) = ['(x)g(x) — f(x)g'(x)
<g) (=)= g% (x)
(fog)(z) = f(9(x))d (x)

Integralasi szabalyok

[ @ o@do= [ 1@asz [ga)da

/cf(x)dx -

[ 1@ @) e -
/f(ax +b)dx =

Maclaurin-sorok

o

c/f(z)dx, ceR
f(@)g(x) - / F(2)g(x) da

éF(ax +b)+C, a,beR F'(z) = f(x)
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